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Lost dme : Edit disfance

i if j=0
j ifi=0
Edit(i, j) = < Edit(i—1,j)+1,
min{ Edit(i,j—1)+1, otherwise
Edit(i —1,j—1) + [A[i] # B[j]]
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SuBseTSUM(X[1..n], T):
ifT=0
return TRUE
elseif T<O0orn=0
return FALSE
else
return (SUBSETSUM(X[l .n—1],T) V SuBserSum(X[1..n—1], T —X[n]))
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SS(i,t) = { FALSE ift<OQori>n
SS(i+1,t) vV SS(i+1,t—X[i]) otherwise

O

TRUE ift=0

, FALSE ifi>n
SS(i, t) = _ ] )
SS(i+1,t) if t <X[i]

SS(i+1,t) vV SS(i+1,t—X[i]) otherwise
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Figure 3.5. Computing the maximum independent set in a tree
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MiSyes(v) =1+ ZMISno(w)

wlv

MiISno(v) = Z max {MISyes(w), MISno(w)}

wlv

TREEMIS2(v):
v.MISno < 0
v.MISyes < 1
for each child w of v
v.MISno « v.MISno + TREEMIS2(w)
v.MISyes « v.MISyes + w. MISno

return max{v. MISyes, v.MISno}
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